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1.A change in accounting principle requires what kind of adjustment to the financial statements?
(a) Current period adjustment. (b)Prospective adjustment. (c)Retrospective adjustment.
(d)Current and prospective adjustment.
2.In 2011, Milford Corporation determined that it overstated salaries payable and salaries expense by
$20,000 in 2010. In 2011, which of the following accounts will have to be credited to correct this error?
(a)Salaries Payable.  (b)Salaries Expense.  (c)Retained Earnings. (d)Income Summary.
3.Comprehensive income includes all of the following except
(a)dividend revenue. (b)loss on disposal of assets. (c)investment by owners. (d)unrealized holding gains.
4.A generally accepted method of valuation is : (1)trading securities at market value. (2)accounts
receivable at net realizable value.(3) inventories at current cost.
(a)only (1) (b)only (2) (c) only (3) (d)only (1) and (2)
5.Which item below is not a current liability?
(a)Unearned revenue (b) Trade accounts payable (c)The currently maturing portion of long-term debt
(d) Stock dividends distributable
6.Treasury shares should be reported as a(n)
(a)current asset. (b)investment. (c)other asset. (d)reduction of shareholders' equity.
7.Rosalie Corporation is located in London but does business throughout Europe. The company builds
and sells equipment used in manufacturing pharmaceuticals. On December 31, 2011, Rosalie has
trading securities valued at £42,000; goodwill valued at £300,000; prepaid insurance valued at £24,000;
patents valued at £140,000; and a customer list valued at £260,000. On Rosalie Corporation’s statement
of financial position at December 31, 2011, what amount should be reported as intangible assets?
(a)£742,000 (b)£766,000 (c) £440,000 (d)£700,000
8.Vivian, Inc had net sales in 2011 of €700,000. At December 31, 2010, before adjusting entries, the
balances in selected accounts were: accounts receivable €125,000 debit, and allowance for doubtful
accounts €1,200 debit. Vivian estimates that 2% of its accounts receivable will prove to be uncollectable.
What is the cash realizable value of the receivables reported on the statement of financial position at
December 31, 2011?
(a)€112,200 (b)€122,500 (c)€111,000 (d)€109,800
9.In preparing its bank reconciliation for the month of April 2010, Henke, In(c) has available the
following information.

Balance per bank statement, 4/30/10 $39,140
NSF check returned with 4/30/10 bank statement 450
Deposits in transit, 4/30/10 5,000
Outstanding checks, 4/30/10 5,200
Bank service charges for April 20
What should be the correct balance of cash at April 30, 2010?

(2)$39,370 (b)$38,940 (c)$38,490 (d)$38,470

10.0n June 1, 2010, Penny Corp. sold merchandise with a list price of $20,000 to Linn on account. Penny
allowed trade discounts of 30% and 20%. Credit terms were 2/15, n/40 and the sale was made f.0.b
shipping point. Penny prepaid $400 of delivery costs for Linn as an accommodation. On June 12,
2010, Penny received from Ison a remittance in full payment amounting to
(a)$10,976. (b) $11,376. (c) $11,368. (d)$11,196.
11.Rios, In(c) uses International Financial Reporting Standards (IFRS). In 2010,Rios, In(c) experienced a
decline in the value of its inventory resulting in a write-down of its inventory from$240,000 t0$200,000.
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The company used the loss method in 2010 to record the necessary adjustment and uses an allowance
account to reduce inventory to NRV. In 2011,market conditions have improved dramatically and Rios,
In(c)’s inventory increases to an NRV of $216,000.Which of the following will Rios,In(c) record in 2011?

(a)A debit to Allowance to Reduce Inventory to NRV of $16,000.

(b)A credit to Recovery of Inventory Loss for $24,000.

(c)A debit to Recovery of Inventory Loss for $16,000.

(d)A credit to Allowance to Reduce Inventory to NRV of $24,000.

12.The following information is available for October for Barton Company.

Beginning inventory 50,000;Net purchases 150,000;Net sales 300,000;Percentage markup on cost
66.67%,A fire destroyed Barton’s October 31 inventory, leaving undamaged inventory with a cost of
$3,000. Using the gross profit method, the estimated ending inventory destroyed by fire is

(a)$17,000. (6)$77,000. (c)$80,000. (d)$100,000.

13.A machine cost $120,000, has annual depreciation of $20,000, and has accumulated depreciation of
$90,000 on December 31, 2010. On April 1, 2011, when the machine has a fair value of $27,500, it is
exchanged for a machine with a fair value of $135,000 and the proper amount of cash is pai(d) The
exchange has commercial substance. The gain to be recorded on the exchange is

(a)$0. (5)$2,500. (c)$5,000. (d)$15,000.

14.Technique Co. has equipment with a carrying amount of $800,000. The equipment’s fair value less
costs to sell is $780,000, and its value-in-use is $815,000. The equipment is expected to be used in
operations in the future. What amount should Technique report as an impairment to its equipment?

(a) $20,000 (b) No impairment should be reported (c)$15,000 (d)$35,000
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(a)$740,000 (b) $110,000 (c) $440,000
= ~ Cash flows from operating activities (using direct methods).
Presented below is the income statement of Cowan, In(c):

(d)sa L% JF

Sales $380,000
Cost of goods sold 225,000
Gross profit $155,000
Operating expenses 85,000
Income before income taxes 70,000
Income taxes 28.000
Net income $ 42,000
In addition, the following information related to net changes in working capital is presented:
Debit Credit
Cash $12,000
Accounts receivable 15,000
Inventories $19,400
Salaries payable (operating expenses) 8,000
Accounts payable 12,000
Income tax payable 3,000

The company also indicates that depreciation expense for the year was $16,700.
Instructions(14%)(Z €& 5 7| B3t E X » FRAIARA T3 %)
Prepare a schedule computing the net cash flow from operating activities by using direct methods.
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